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Partial	products	multiplication	example

We	first	expand	73	as	$70	+	3$.	Use	the	partial	products	division	method.	Here	is	another	way	of	showing	the	same	thing,	using	bundles	of	ten.	Here	we	must	note	that	the	“8”	in	the	number	284	is	in	the	tens	place.	So,	the	4	stands	for	40.4		8×				64		8+	2		4		02		8		8Lastly,	we	will	add	up	the	two	products.	The	answer	will	be	the	sum	of	quotients.	This
time	we	will	multiply	6	by	20.	We	expand	84	and	36.	Multiply	the	tens	and	ones	separately,	then	add:	8		×		13								(10	+	3)	8	×	10		and		8	×	3			80		and		24	=	104	5		×		24								(20	+	4)	5	×	20		and		5	×	4			100		and		20	=	120	7		×		68								(60	+	8)	7	×	60		and		7	×	8			420		and		56	=	476	1.	Subtract	the	two,	and	zero	remains.	$=	2400	+	480	+	120	+	24
=	3024$	2.	Can	we	use	the	partial	products	method	to	find	the	product	of	three-digit	and	four-digit	numbers?	What	if	you	have	to	find	the	product	of	two	numbers	with	2	digits	each.	After	that,	they	still	had	56	seats	left	in					the	storage	that	they	didn't	use.	Write	a	number	sentence	for	each	problem,	not	just	the	answer.	This	is	the	perfect	introduction
activity	for	teaching	partial	products	in	multiplication	to	your	students.	Learn	and	explore	more	at	SplashLearn.	It	is	a	mental	math-based	concept	that	enhances	number	sense	understanding.			2	3×					1	26		2		3×		1		264	0	2		3×			1		2		44	03	02		3×	1		2		44	03	0+2	0	0	2	7	4	Partial	products	division	is	similar	to	partial	products	multiplication.	So,
$\text{a}	\times	(\text{b}	+	\text{c})	=	\text{a}	\times	\text{b}	+	\text{a}	\times	\text{c}$	When	we	find	the	product	of	two	numbers	using	partial	products,	we	follow	a	similar	process	of	breaking	the	numbers	and	then	finding	the	product.	They	actually	use	the	distributive	property,	but	we	do	not	need	to	explain	that	to	4th	grade	students.	It	is	also
divided	into	two	rectangles.	$84	\times	36	=	(80	+	4)	\times	(30	+	6)$					We	multiply	each	part	of	the	expanded	form	by	84,	with	each	part	of	the	expanded	form	of	36.	Sometimes	with	my	students,	I	refer	to	it	as	the	Box	&	Cluster	Method.When	teaching	students	how	to	find	partial	products,	we	always	work	through	these	Partial	Products	Notes	and
Practice	together	in	class.				6	×	12	5	×	14	c.	This	effective	multiplication	strategy	enhances	number	sense.	Here,	each	part	maintains	its	place.	So,	the	steps	for	partial	product	multiplication	with	one-digit	numbers	are	as	follows:	First,	we	will	write	down	the	two	numbers	below	the	other.					_______________________________________________	c.	You	will
also	come	across	solved	examples	with	explanations	and	practice	problems	for	you	to	ace	your	preparation.	The	area	of	the	second	rectangle	is	8	×	4	=	32	square	units.	We	break	the	numbers	according	to	place	value	and	follow	the	same	steps.	Here	we	must	note	that	the	“4”	in	the	number	48,	is	in	the	tens	place.				
_______________________________________________	b.	You	can	easily	say	that	it	is	8.	Draw	a	two-part	rectangle	to	illustrate	the	multiplications,	like	in	the	previous	problem.	Find	the	cost	of	the	more	expensive	hammer.		8	×	34		=		___	×	______		+		___	×	___				=	_________	4.	There	are	4	digit	x	1	digit	multiplication	problems	to	work	through	and	even	3	digit	x
2	digit	practice	problems.	Sample	Word	Problem	Example:	The	length	of	a	rectangle	is	23	meters.	We	add	up	the	parts	to	get	the	final	answer.	So,	the	8	stands	for	80.8		4×	2		1		48	08	08		4×		2		1		48	08	0+1	6	0	01	7	6		4Next,	we	will	multiply	20	×	4	and	write	down	the	product	under	the	80.	This	step-by-step	product	allows	students	to	use	the
concept	of	place	values	and	multiply	the	numbers.	6		×		27													(20	+	7)	6	×	____	and		6	×	____			______	and	______	=	___________	b.		4		×		58	4	×	____	and		4	×	____	=	___________	The	picture	illustrates	the	area	of	a	rectangle	with	sides	8	and	24.	Multiply	3	×	46	Break	46	into	two	parts:	40	and	6.	So,	we	learn	how	to	do	calculations	strategically	rather
than	memorizing	a	series	of	steps.	Fill	in	the	missing	numbers.	A	partial	product	is	a	product	of	two	numbers	obtained	when	we	break	the	numbers	into	parts,	multiply	the	parts	separately	and	then	add	them	together.	Plus	you	can	print	it	out	or	use	it	digitally	with	your	students	through	Google	Slides.	9		×		34													(									+							)	9	×	____	and		9	×
____			______	and	______	=	___________	d.	Now,	we	find	the	product	as	follows:	$8	\times	(70	+	3)	=	8	\times	70	+	8	\times	3	=	560	+	24	=	584$	When	we	look	at	the	expression	$(\text{a}	+	\text{b})	\times	\text{c}	=	\text{a}	\times	\text{c}	+	\text{b}	\times	\text{c}$,	we	can	use	this	to	find	the	product	of	a	$1-$digit	number	and	a	$2-$digit	number.			A
partial	product	is	a	product	obtained	when	we	multiply	a	multiplicand	by	one	digit	of	a	multiplier	that	has	more	than	one	digit.	Here,	too,	we	apply	the	distributive	property	of	multiplication.	What	is	a	partial	product?	This	video	does	a	really	great	job	of	explaining	this!Determine	the	value	of	each	digit.Write	your	multiplication	sentence.Find	your
partial	products.Finally,	add	the	partial	products	together!Here	is	an	example	of	how	I	teach	my	students	to	use	partial	products	in	multiplication:Determine	the	value	of	each	digit	then	write	your	multiplication	sentences:Next,	find	your	partial	products,	then	add	them	together:So,	the	partial	products	are	600	+	150	+	21	and	the	answer	to	this
problem	is	771.I	always	teach	my	students	this	tip:	When	determining	how	many	multiplication	sentences	and	partial	products	you	will	have,	you	can	multiply	your	first	number	of	digits	by	your	second	number	of	digits.	If	your	problem	is	23	x	79:	your	first	number	has	2	digits	and	your	second	number	has	2	digits.	You	can	write	the	partial	products
under	the	problems,	if	you	wish.	For	example,	if	the	number	26	and	2	is	in	the	tens	place,	then	we	must	note	that	2	stands	for	20.	Mary	and	Harry	set	up	nine	rows	of	seats	in	the	school	auditorium,					with	14	seats	in	each	row.	Then	add	these	two	partial	results:	120	+	18	=	138.	Partial	is	also	used	to	indicate	bias	or	favor	of	one	side	over	another.
Partial	products	are	a	perfect	way	to	learn	the	multiplication	of	multi-digit	numbers.	$\text{A}	=	20	\times	70	=	1400$	$\text{B}	=	60	\div	20	=	3$	$\text{C}	=	630	\div	70	=	9$		$\text{D}	=	\text{C}	\times	\text{B}	=	9	\times	3	=	27$	Attend	this	quiz	&	Test	your	knowledge.Correct	answer	is:	500,	250,	10,	5$15	\times	51	=	(10	+	5)	\times	(50	+	1)$
$=	(10	\times	50)	+	(10	\times	1)	+	(5	\times	50)	+	(5	\times	1)$	$=	500	+	10	+	250	+	5$Correct	answer	is:	221	sq.			8	4×					2	1		To	multiply	84	×	21	using	the	partial	products	concepts,	we	will	multiply	it	in	parts.	8	×	24		=		8	×	20		+		8	×	4							=	160	+	32	=	192	2.	Let’s	take	this	expression	itself		$(\text{a}	+	\text{b})	\times	\text{c}	=	\text{a}
\times	\text{c}	+	\text{b}	\times	\text{c}$	Let’s	replace	“c”	with	$(\text{p}	+\text{q})$	$(\text{a}	+	\text{b})	\times	(\text{p}	+	\text{q})	=	\text{a}	\times	(\text{p}	+	\text{q})	+	\text{b}	\times	(\text{p}	+	\text{q})$	Now	we	can	see	that	we	can	apply	distributive	property	in	$\text{a}	\times	(\text{p}	+	\text{q})$	and	$\text{b}	\times	(\text{p}	+
\text{q})$	separately	and	add	all	of	them	to	get	the	result.	More	Worksheets	The	distributive	property	of	multiplication	says	that	for	three	numbers	a,	b,	and	c,	the	sum	of	a	and	b,	when	multiplied	by	c,	gives	the	same	result	as	a	and	b	individually	multiplied	by	c,	and	then	the	products	are	added	together	to	find	the	result.	Partial	product	method	is
applied	to	multiply	numbers	larger	than	10.	Let’s	get	familiar	with	partial	products	and	how	to	multiply	two	numbers	using	this	method.	8		4×			2		1		48		0Then	we	will	multiply	1	×	80	and	write	down	the	product	under	the	4.	5	×	13	=	_______	b.	The	expanded	form	of	36	=	30	+6.	We	break	the	number	into	parts	to	multiply.	Question	1:	Multiply	the
following	two-digit	numbers:	Question	2:	Multiply	the	following	three-digit	numbers:	Question	3:	Multiply	the	following	four-digit	numbers:	Question	4:	Multiply	the	following	numbers:	56	×	78	12	×	44	567	×	12	45	×	121	Question	5:	Emma	bought	25	pens	for	her	younger	brother.	It	has	14	practice	problems	to	work	through,	using	both	partial
products	and	the	area	model.	We	then	multiply	the	parts	separately	and	then	add	them	together.	Compare.	It	really	helps	them	to	have	a	visual	representation	available	in	the	classroom	of	each	step	for	when	we	do	our	practice	and	independent	work.	Suppose	you	take	a	pizza	and	cut	it	into	slices.	Here,	we	must	keep	in	mind	that	the	tens	digit	will
have	a	zero	in	addition	to	the	number	written.	$(a	+	b)	\times	(p	+	q)	=	(a	\times	p)	+	(a	\times	q)	+	(b	\times	p)	+	(b	\times	q)$	We	can	follow	the	given	steps	to	multiply	$2-$digit	numbers	using	the	partial	product	method:	Step	1:	We	take	the	numbers	we	want	to	multiply	and	expand	or	break	them	into	parts	based	on	their	place	value.	2	8		4×	
			2		81	6		0Then	we	will	multiply	2	×	80	and	write	down	the	product	under	the	8.	When	children	use	the	standard	method	of	multiplying	multi-digit	numbers,	it	is	a	much	more	abstract	concept	so	they	MUST	have	a	solid	understanding	of	partial	products.	Find	the	missing	numbers.	Also	find	the	total	area.	We	learnt	about	the	method	of	partial
product	to	multiply	two	numbers	easily	along	with	definition,	properties	and	fun	facts.	Then	multiply	those	two	parts	separately	by	3:	3	×	40	is	120,	and	3	×	6	is	18.	The	area	of	the	WHOLE	rectangle	is	8	×	24	square	units.	Lastly,	we	will	add	up	all	the	quotients,	i.e.,	100	+	20	+	40	=	160.	Example:	Divide	960	by	6	Steps	for	partial	products	division:
We	will	begin	by	figuring	out	numbers	that	are	easy	to	work	with,	such	as	multiples	of	10,	100,	and	so	on.	Students	have	to	use	simple	subtractions	and	multiplications	to	solve	the	equation	until	they	get	down	to	0	or	close.	Here,	the	place	value	of	2	in	the	number	21	is	20.	a.	The	banner	is	increased	in	size	by	3	feet	in	both	length	and	width.	Your	first
number	has	3	digits	and	your	second	number	has	1	digit,	therefore,	you	will	have	3	partial	products	to	add	up.	feet$13	\times	17	=	(10	+	3)	\times	(10	+	7)$	$=	(10	\times	10)	+	(10	\times	7)	+	(3	\times	10)	+	(3	\times	7)$	$=	100	+	70	+	30	+	21	=	221$	sq.	We	first	break	each	number	into	parts	based	on	its	place	value.	Let’s	take	an	example	of
multiplying	315	and	241:	$315	=	300	+	10	+	5$	$241	=	200	+	40	+	1$	Using	the	area	model,		Product	of	$315$	and	$241	=$	Sum	of	partial	products		$315	\times	241	=	60000	+	12000	+	300	+	2000	+	400	+	10	+	1000	+	200	+	5	=	75,915$	This	is	a	complete	lesson	with	explanations	and	exercises	about	multiplying	in	parts,	also	called	partial
products	algorithm,	with	two-digit	numbers.	You	do	not	have	to	measure	the	sides	to	make	them	exactly	so	long,	a	sketch	is	good	enough.	Example:	$27	=	20	+	7,	358	=	300	+	50	+	8$	Can	we	use	the	partial	products	method	to	multiply	two	algebraic	expressions?	The	…	Now	that	we	have	240,	we	can	multiply	6	with	40.	1.	So,	$(10	\times	30)	+	(10
\times	4)	+	(2	\times	30)	+	(2	\times	4)	=	300	+	40	+	60	+	8	=	408$	While	the	word	“partial”	indicates	a	part	of	something,	it	may	not	always	do	so.	Lastly,	we	will	multiply	the	tens	digit	of	the	multiplier	with	the	tens	digit	of	the	multiplicand	and	write	it	under	the	previous	three	partial	products.	In	a	nutshell,	students	learn	to	break	two-digit	numbers
into	two	parts,	and	to	multiply	the	parts	separately.	5	×	33	=	_______	d.	4	×	22	=	_______	f.	The	expanded	form	of	26	=	20	+6.	So,	the	8	stands	for	80.2	8		4×				2		81	6	0+4	0	05		6		8Next,	we	will	multiply	2	×	200	and	write	down	the	product	under	160.	What	happens	when	we	have	numbers	wherein	the	multiplier	has	more	than	one	digit.	7	×	47	5.
Consider	the	following	example	to	understand	the	concept	of	partial	products	multiplication	for	multi-digit	multiplicands	and	multipliers.	Lastly,	we	will	add	up	the	three	partial	products.	Study	these	examples.	Another,	much	better	one,	is	three					times	as	expensive.	So,	we	take	away	600	from	960,	and	we	will	be	left	with	360.	A	partial	product
model	in	multiplication	is	a	term	that	is	typically	taught	in	the	4th	and	5th	grade	math	curriculum.	Lastly,	we	will	add	up	the	two	partial	products	to	obtain	our	final	answer.	Partial	means	something	that	is	incomplete	or	exists	only	in	parts.	We	will	add	up	the	four	partial	products	to	obtain	our	final	answer.	What	can	we	do?			___	×	______		=		___	×
______		+		___	×	___							=	_________	3.	So,	$12	=	10	+	2$	and	$34	=	30	+	4$	Step	2:	We	multiply	each	part	of	the	expanded	form	of	a	number	with	each	part	of	the	expanded	form	of	the	other	number.	Here,	the	place	value	of	2	in	the	number	284	is	200.													46	46	46				3	×	40	=	120				3	×	6	=	18				Lastly,	add	120	+	18	=	138.	Here	we	must	note	that
the	“8”	in	the	number	84,	is	in	the	tens	place.	Area	of	the	new	banner	$=$	Sum	of	partial	products	$=	1200	+	150	+	200	+	25	=	1575$	3.	We	will	begin	by	multiplying	the	one	digit	of	the	second	number	by	the	one	digit	of	the	first	number.	Solution:	We	have	to	multiply	84	and	36.	Looking	for	more?	What	would	be	the	area	of	the	banner?	We	will	get
240.		7		×		65	7	×	____	and		7	×	____	=	___________	f.	When	we	say	partial	product,	we	mean	breaking	down	large	numbers	into	parts	to	find	their	product	easily.	So,	first,	we	will	write	the	numbers	under	one	another.2	8		4×					28	We	will	begin	by	multiplying	2	×	4,	and	we	will	write	down	the	answer,	i.e.,	8.	It's	called	the	Area	Model	in	multiplication.
				_______________________________________________	The	video	below	also	explains	this	same	idea:	first	students	are	taught	to	multiply	two-	or	three-digit	numbers	in	parts	(such	as	multiplying	3	×	89	as	3	×	80	and	3	×	9,	and	adding	those)	as	a	preparation	for	learning	the	usual	multiplication	algorithm.	In	this	method,	we	first	break	the	numbers	into
parts	and	then	multiply	the	parts.	The	following	article	is	partial	products	math,	the	steps	for	multiplying	two	–	or	three-digit	numbers	in	columns.	How	many	chocolates	will	each	student	get?	7	×	51	=	_______	6.	Now,	we	will	look	for	another	number	and	repeat	the	steps.	6	×	19	6	×	10		→6	×	9				→										6		0+			5		4			1		1		4	b.	So,	we	will	multiply	6
with	100	and	write	the	product	below	the	dividend.	How	many	seats	are	there	in	total?	We	will	begin	by	multiplying	the	one	digit	of	the	second	number	with	the	one	digit	of	the	first	number.	Multiply	2	x	2	together	and	you	will	have	4	partial	products	to	add	up.	What	was	his	total	bill?	But	if	you	are	asked	to	find	the	product	of	32	and	54,	you	may	have
to	carry	out	some	calculations.	2		8	4×					2		To	multiply	284	×	2	using	the	partial	products	concepts,	we	will	multiply	it	in	parts.	Question	6:	There	are	40	students	in	a	class,	and	Lily	has	560	chocolates	to	distribute.	A	small	hammer	costs	$17.	We	add	the	multiplication	results	to	find	the	final	product.	Up	till	now,	we	have	been	seeing	examples	of
partial	products	for	one-digit	multipliers.	So,	what	does	partial	product	mean	in	math?	a.	Next,	we	will	multiply	the	tens	digit	of	the	multiplier	with	the	one	digit	of	the	multiplicand.	There	is	also	a	follow-up	method	to	teaching	partial	products	in	multiplication	to	students.					a.	We	must	take	note	that	the	tens	digit	will	have	a	zero	in	addition	to	the
number	written	considering	its	place	value.	Jack	bought	eight	shirts	for	$14	each.	Place	value	helps	us	understand	each	digit’s	position	in	a	number	and	expand	them	to	break	down	numbers.	$=	(80	\times	30)	+	(80	\times	6)	+	(4	\times	30)	+	(4	\times	6)$	We	calculate	the	products	and	add	them.		3		×		99	3	×	____	and		3	×	____	=	___________	e.	4		8×	
			64		82		4		0Then	we	will	multiply	6	×	40	and	write	down	the	product	under	the	48.	Let’s	suppose	we	want	to	multiply	12	by	34.	The	size	of	a	banner	is	$30	\times	40$	feet.	This	method	is	also	called	the	partial	quotients	division	method,	as	we	get	the	quotient	in	parts.	Check	out	IXL's	Distributive	Property	lesson.	The	cost	of	each	pen	was	$5.	So,
first,	we	will	write	the	numbers	under	one	another.8		4×		2		14	We	will	begin	by	multiplying	1	×	4,	and	we	will	write	down	the	answer,	i.e.,	4.		8	×	22	5	×	27	7.		7	×	16	=		___	×	______		+		___	×	___				=	_________	b.	Students	use	place	value	concepts	to	multiply	the	numbers,	making	it	a	strategy	that	actually	enhances	number	sense,	rather	than	relying
on	a	series	of	memorized	steps.Teaching	students	how	to	multiply	using	the	partial	product	method	gives	them	a	more	pictorial	and	concrete	understanding	of	the	process	of	multiplying	2	digit	numbers	or	higher.		5	×	21	=		___	×	______		+		___	×	___				=	_________	c.	Let’s	take	an	example:		$(2x	+	3y)	×	(3x	+	7y)	=	(2x	\times	3x)	+	(2x	\times	7y)	+	(3y
\times	3x)	+	(3y	\times	7y),$	where	all	the	four	individual	products	are	the	partial	products.	The	following	example	will	help	you	understand	the	concept	of	partial	products	multiplication.	Using	the	partial	products	method	will	make	sure	to	give	them	a	conceptual	understanding	of	multi-digit	multiplication	before	moving	to	the	standard	method	of	say
just	multiplying	43	X	56.	Here	is	how	to	multiply	three-digit	numbers	via	partial	product	multiplications.	A	partial	product	helps	you	multiply	such	numbers	easily	by	breaking	them	into	parts.	Continuing	with	our	example,	$12	\times	34	=	(10	+	2)	\times	(30	+	4)$	We	multiply	the	expanded	parts	of	the	number,	as	shown	in	the	image:	Step	3:	We
calculate	the	products	of	the	parts	and	add	them	to	find	the	final	product	of	the	multiplication	problem.	Multiply	in	parts.	Add	up	the	four	partial	products	to	get	the	answer.	Let’s	say	you	are	asked	to	find	the	product	of	2	and	4.	feet$\text{A}	=	9$,	$\text{B}	=	10$$\text{A}	=	9$,	$\text{B}	=	9$$\text{A}	=	10$,	$\text{B}	=	7$$\text{A}	=	10$,
$\text{B}	=	9$Correct	answer	is:	$\text{A}	=	10$,	$\text{B}	=	9$$\text{A}	=	200	\div	20	=	10$	$\text{B}	=	180	\div	20	=	9$	Why	do	we	need	to	know	place	value	to	learn	partial	products?	9	×	33	f.	So,	first,	we	will	write	the	numbers	under	one	another.4		8×					64		8	We	will	begin	by	multiplying	6	and	8,	and	we	will	write	down	the	answer
completely,	i.e.,	48.	We	can	find	that	by	calculating	the	areas	of	the	two	rectangles,	and	adding.	Subtract	the	product	from	the	dividend.	Solve.	4	×	67	d.	8	×	21	=	_______	e.	In	the	previous	example,	we	learned	how	to	multiply	two-digit	numbers	using	the	concept	of	partial	products.	It	is	meant	for	fourth	grade,	and	works	as	a	stepping	stone	before
students	learn	the	regular	multiplication	algorithm.			Again	we	will	subtract	120	from	360,	and	we	will	be	left	with	240.	a.	Solution:	Area	of	a	rectangle	=	length	of	the	rectangle	×	breadth	of	the	rectangle	So,	we	have	to	multiply	23	×	12.	Break	the	second	factor	into	tens	and	ones.	Next,	we	will	multiply	the	one	digit	of	the	second	number	with	the
tens	digit	of	the	first	number	and	write	down	the	product	below	the	first	product.	3	×	73	3	×	______		→3	×	______		→											+											c.	9	×	15	=	_______	c.	Each	of	the	slices	will	be	a	partial	part	of	the	pizza.	5		×		83													(									+						)	5	×	____	and		5	×	____			______	and	______	=	___________	c.	The	area	of	the	first	rectangle	is	8	×	20	=	160	square	units.
Multiply	separately,	and	add.			10	×	10	9	×	11	b.	Write	the	area	of	the	whole	rectangle	as	a	SUM	of	the	areas	of	the	smaller					rectangles.	We	use	the	property	$\text{a}	\times	(\text{b}	+	\text{c})	=	\text{a}	\times	\text{b}	+	\text{a}	\times	\text{c}$	Suppose	we	have	to	find	the	product	of	8	and	73.	Write	<	,	>	,	or		=		in	the	boxes	between	the
number	sentences.	This	is	a	great	tip	for	them	to	check	their	work	and	make	sure	they	are	on	the	right	track	with	how	many	addition	sentences	they	have!Below	is	an	example	of	an	anchor	chart	that	I	like	to	use	with	my	students	when	teaching	about	partial	products.	This	strategy	is	rooted	in	number	sense	understanding.	To	follow	up	with	MORE
PRACTICE	ON	PARTIAL	PRODUCTS,	we	use	this	Partial	Products	for	Multiplication	Activity.	It's	your	turn	to	draw.	Multiply	the	tens	and	ones	separately.	Let’s	take	an	example	of	multiplying	315	and	241:	$315	=	300	+	10	+	5$	$241	=	200	+	40	+	1$	Using	the	area	model,		Product	of	$315$	and	$241	=$	Sum	of	partial	products		$315	\times	241	=
60000	+	12000	+	300	+	2000	+	400	+	10	+	1000	+	200	+	5	=	75,915$	To	multiply	two	2-digit	numbers	using	the	partial	product	method,	simply	add	all	the	partial	products	of	the	two	numbers.	Partial	means	something	that	is	incomplete	or	exists	only	in	parts.	We	will	write	the	partial	product	below	the	two	partial	products.	Yes.	5	×	92	e.	This
division	strategy	is	an	easier	alternative	for	the	long	division	process.	Just	like	we	do	it	in	the	area	model	of	multiplication,	we	break	the	numbers	into	smaller	parts	and	multiply	each	part	with	each	other.	Then	add	to	get	the	final	answer.	Lastly,	we	will	multiply	20	and	80	and	write	the	product	under	80.	4		8×					6		To	multiply	6	×	48	using	the	partial
products	concepts,	we	will	multiply	it	in	parts.	Yes,	the	partial	products	method	can	be	used	to	find	the	product	of	three-digit	and	four-digit	numbers	as	well.	For	example,	if	the	number	36	and	3	is	in	the	tens	place,	then	we	must	note	that	3	stands	for	30.			___	×	______		=		___	×	______		+		___	×	___							=	_________	b.	So,	the	steps	for	partial	products
multiplication	with	two-digit	numbers	are	as	follows:	First,	we	will	write	down	the	two	numbers,	one	below	the	other.	We	will	discuss	partial	product	examples	with	two	cases:		One-digit	number	with	a	two-digit	number		Two-digit	number	with	a	two-digit	number		Using	the	partial	products	method,	we	can	multiply	a	$1-$digit	number	with	a	$2-$digit
number.			___	×	______		=		___	×	______		+		___	×	___							=	_________	c.	The	following	example	of	partial	products	division	will	help	you	understand	the	division	approach.	What	is	the	area	of	the	rectangle?	Multiply	84	and	36	using	the	partial	products	multiplication	method.	So,	the	area	of	the	WHOLE	rectangle	is	the	sum	160	+	32	=	192	square	units.
Find	the	total	cost	of	pens	using	the	partial	products	multiplication	method.	The	breadth	of	the	rectangle	is	12	meters.	It	can	be	printed	out	to	use	with	students	or	used	digitally.	We	will	write	down	the	product.
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